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High School, Examination (Regular) - 2019

HTAToIe a1/ SOCIAL SCIENCE

(Hindi & English Versions)
Time : 3 Hours ] [Maximum Marks : 100
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Instructions:

(i)
(ii)
(i)

(iv)
(v)

All questions are compulsory.
Read the instructions of question paper carefully and write their answers.

Questions from 1 to 5 are objective type and compulsory. Each question carries 5
marks. Total marks are 5x5=25.

Internal options are given in questions from 6 to 26.

Questions from 6 to 10 are very short answer type questions. Word limit is 30
words. Each question carries 2 marks.



(vi) Questions from 11 to 14 are short answer type questions. World limit is 75 words.
Each question carries 3 marks.

(vii) Questions from 15 to 21 are long answer type questions. World limit is 120 words.
Each question carries 4 marks.

(viii) Questions from 22 to 26 are long answer type questions. Word limit is 150 words.
Each question carries 5 marks.

(ix) Question 22 should be indicated on the outline map of India as direct

1. 7T faepeT It i@ (1x5=5)
(A) AT AT 39T § —

() g (i) a1E

(iii) HFEeT (iv) HSF gEeaT
(B) HRA-HT Ig g3 T -

(i) 1960 §. H (i) 1962 €. H

(i) 1965 §. & (iv) 1967 & &
(c) ¥ &7 afFafoa ¢ -

(i) STATHF (CAEGIZED

(i) JArTH (iv) g T Jdraesh asr
(D) T &F UTIR TSl FIcl & -

(i) 98T & A (i) 3IITT §T H

(iii) TcTeT 3T ST (iv) 3UdFd H & FI5 QT
(E) Faareg =T gely fgr g § -

(i) T H (i) Tl &

(iii) 9TIH S9TeT H (iv) #CT9S H

Choose the correct option:
(A) Man made disaster is-

(i) Drought (ii) Flood

(iii) Landslide (iv) Road accident
(B) Indo-China war was held in -

(i) 1960 A.D. (i) 1962 A.D.

(iii) 1965 A.D. (iv) 1967 A.D.



(C) Agriculture is included in -

(i) Primary sector (ii) Secondary sector
(iii) Tertiary sector (iv) Secondary and Tertiary both sectors
(D) The tertiary sector provides employment —
(i) Directly (ii) Indirectly
(iii) Directly and indirectly both (iv) None of above
(E) Keoladeo Ghana Bird Sanctuary is located in -
(i) Kerala (ii) Rajasthan
(iii) West Bengal (iv) Madhya Pradesh
2. g =t $ir qﬁ e : (1x5=5)
(37) TIFA I Yo SUIEAT H ___ T AGcAqUl A ¢
(F) TR 36T H UUH T Ucd A0 T gl
(T) ool T AT & &l IR &7 HC OiNg |
() ST 3Faea] TiayuT i & Jege o)
(@) FI GATSAIG FT Ak ATAT ST ¢
Fill in the blanks :
(a) has an important place in Joint Forest Management System.
(b) State of India ranks first in the production of Soyabcan.
(c) The people of Delhi proclaimed _ as king of India.
(d) Dr. Ambedkar was Chairman of Constituent
(e) is considered the father of Socialism.
3. U 2eg IT I9FT H 3cal ST ; (1x5=5)

(37) IR Y99 AT & 319 5@ F7=x T I Jorelr g 7% §?

(@) 9IRT # Aiforw JFRT Fr TETF FiT 82

() TR 3R ATRHITH & 3= &3 F FaRa ufafr Fra=arsga &2
(&) AT T Gerieh T AT0TAT fohdieh HTUR WX HT AT 87 g Teh fafaT]
(8) TSEIT 3UAFT fGaq Fd HATIT AT 872

Werite answer in one word/sentence:

(A) What is the position of Indian Railways Network in the world ?
(B) Who is the protector of Fundamental Rights in India ?



(C) What are the elected members of Municipality and Municipal Corporation called?
(D) On what basis the Human Development Index is assessed? Write any one.

(E) When is the National Consumer Day celebrated?

H / AHT 9dIs T (1x5=5)
(37) SNeF THT T 3= T gl ATl ¢ |

(F) SFEEAT Fr T F dRT F7 g # goH TI ¢ |

(F) 3cUTees HIAT H Yoir ol i AT gl J1ar ¢ |

(&) TOT HTHWOT T 0T ST TATOIS I dTell &g TTHTR FEallal |
() T92T =AU HITSsT T TATSAT 1995 H §'§.’ oF |

State True or False :

(a) House of People is called Upper House.

(b) India is first in the world in respect of its total population.

(c) Money used for productive purposes is called investment.

(d) The mark that standardises the quality of golden jewellery is called Hallmark.
(e) The World Trade Organisation was established in 1995.

TEr AT T8y (1x5=5)
(37) (<)
(37) 3TTeRTRIETU s CRICCE]
C)REIGINEELICCS - BTRW
(/) =XOT It IMellehis - gfedrae &7
(&) gRags Tg gaR , 1957
(3) TAee &1 FITEEAT . THFST fAeE
- Oellhd 9RaR
Match the following:
(A) (B)
(a) Akashvani - Tertiary Sector
(b) Swami Vivekanand - Chhatarpur
(c) Charan Paduka Firing - Secondary Sector
(d) Transport and Communication - 1957
(e) Cement Factory - Ramkrishna Mission

- Registered Family



10.

11.

1857 & TITFT HATH FT dlchlloleh HROT AT 2T ?
What were the immediate cause of Freedom Struggle of 1857 ?

3724T /OR
FAT & UTFENETT U A-UFURETT U= & A1 9d8d ||

Name the renewable and non-renewable sources of power.

3UHIFAT F FAT Feaded £2 Fig ar AfFT |

What are the duties of consumers ? Write any two.

341 /OR

FULTETAT & UhR forr@v|

Werite the types of infrastructure.

e Faied o AT T FiT A AfF g2

What was the policy adopted by Lord Curzon for Governance?

372197/ OR
THITSRIT FAT § ?

What is Monopoly ?

a2l GHST Fr od ffaw|

Werite the conditions of Tashkand Agreement.

37241/ OR
916 TTauT F F15 o U T |

Werite any two steps which should be taken to control floods:

3USTIFaT 2NYUT & AT 31T § ?

What is meant by Consumer Exploitation?

372737/ OR
FreTaTaT Rl Fga & 2

What is Black Marketing ?

AAdSiEae H HT I FAT FAged g ? GHSRU |

What is the importance of soil in human life? Explain.

(2)

(2)

(2)

(2)

(2)

(3)



12.

13.

14.

15.

16.

3Y¥ar / OR
FAT T GIEUT FAT ITGTF § ?
Conservation of forests is necessary, why?

ARAT ATHHT H FTAT F FIT FROT P HE a1 (3)

Why were the Indian rulers angry with the British rule? (Any three reasons)

3727aT /OR
R & T FEIfY ¥ FRoT T @1 99

Werite the causes of national awakening in India. (Any three)

39 ISEAIG & 36T & FAT HRUT A? (3)
What were the reasons of the rise of Aggressive Nationalism?

HAAT /OR
HTEIRT 3ol T Ti@Td Juid FHITAT |

Explain briefly the Non-Cooperation Movement.

Tehicrer 3TUer3t & o &t 1 faarer seaverdl &1 = ag @9 § ? e
$ifaT| (3)

Exploitation of forest resources is responsible for natural disasters, Is it true?
Explain. ; C

37241 / OR
oREgd & T AFT TEIaT F 9¥ v Fu € @

The means of transport are the guiding force for the progress of human civilization.
Explain

RT F AR F Aifos 3RFERT Fr guia Hifaw) (4)

Describe the Fundamental Rights of citizens of India.

3{¥ar / OR
FATSATE Hdegaedr & Fig AR o i)

Werite any four merits of Socialist Economy.

gairarar e gomelr #r #g IR fadvare T (4)

Werite any Tour characteristics of capitalistic economy.

HAYET/OR



17.

18.

19.

20.

21.

THcHF ATHA JoTelr I Fg IR [FAvae RAfRw)

Werite any four characteristics of federal form of government.

IR giaure Y Fg IR FAuare e

Werite any four specialties of the Indian Constitution.

372aT / OR
9T H g 3cUe 837 & faaeor &1 guvia Hifav|

Describe the distribution of Iron producing areas in India,
T 3R @lw Fr U # FiS g e Tse HifAw)

Differentiate any five Rabi and Kharif crops.

372aT / OR
R 1 30 AfFd & &9 A T 7@ goR gam gAzmEv|

Explain how has India achieved the status of a Nuclear Power?

SEEdT 3ig Uehat & &g IR 39T faf@T
Write any four measures to control population growth.

37247 / OR
AGH gerdt FT Y T F7 g9 g € 2w Ui RfRw

What is live effect of drugs on the body? Write any five.
ITseufa & HehchTold ATUFRT T Juia FIfST)
Describe the emergency powers of the President.
34T / OR
TIdTaT TIH & SfAgE #H 1929 & JER ARIAT F1 F7 Aged &7

What is the importance of Lahore Session of 1929 in the history of freedom
struggle? |

YRR gaRT 7 TXET0T & fordr fondr a3 umat &1 quiea Hifaw)
Describe the role of Government agencies in forest conservation.

34T / OR

TfaaT 31TAT 3Tegold Tl ATy & FAT HROT o ?

What were the reasons for conducting Civil Disobedience Movement?

(4)

(4)

(4)

(4)

(4)



22.

23.

qRT & AT & Feafafad & sy (5)
(i) 3T TR

(i) FAFaS

(iii) Y=g

(iv) feoelt|

(v) oUTT FT ASEAS|

Show the following on the Map of India :
(i) Arabian Sea.
(i) Mumbai.
(iii) Chennai.
(iv) Delhi.
(v) Thar desert.
39ar / OR
ferafafad AlgaT Gt #F T FI g Hohd T30 ¢
() PRl
(ii) 3]
(iii) FETaT|
(iv) 9 AR
(v) e
Draw symbol / sighs to show the following weather conditions:
(i) Drizzle.
(ii) Hail.
(iii) Mist.
(iv) Steady breeze.
(v) Gale.

ST TSI W shl FATTAT o Tl Scaierdl SRl T f[daRordifae]  (5)

Describe the causes which led to the establishment of Indian National Congress.

32491 / OR
HARATT USTdT T AheldT H 91U U deal T JuTd hITeTT|

Describe five hurdles in the success of Indian democratic system.




24. FAEIFAT & dig w7 fAf@w) (5)

Werite down any live functions of the Chief Minister.

372aT / OR
STIEATUHRT F Hg T F AT

Write any live functions of the Parliament.

25. 3GATET &of sl HIATATY 3T TSCATET &l hI FRATATT & FH g e o

26.

Tgse HTAT (5)

What were the working system differences between aggressive nationalism and
moderators? Explain.

372197 / OR
AFTAT eTeT F FT IIET|

What are the functions of the Speaker of Lok Sabha?

ARA H RIS gT F & 3T FT JulT HIfe| (Fig °r) (5)

Describe the measures which should be adopted to remove unemployment from
India. (Any five)

34Tt / OR

HTARATE T FHTS T FIT TATT JgdT 82 88 §T e & 3urg fafaw

What are the effects of terrorism on the society? What measures should be adopted
to fight terrorism?
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